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NEW QUESTION 1
In addressing the full attack continuum, what type of capabilities are required before an attack?

A. Preventive and Response
B. Preventive and Detective
C. Predictive and Response
D. Preventive and Predictive

Answer: D

Explanation: 
https://www.ironshare.co.uk/technical/ciscos-attack-continuum/

NEW QUESTION 2
Cisco 1000 series integrated services routers are fixed, high performance routers. Which is not a benefit of the routers?

A. Connectivity
B. Ease of use
C. Exclusivity
D. Comprehensive security

Answer: C

NEW QUESTION 3
Networks are more complex than ever and devices are proliferating by the minute. It's harder to see what's on the network, and it's harder to spot a threat. Cisco's
Network Visibility and Enforcement solution combines which of the following?

A. Cisco Stealthwatch Enterprise, the Cisco Identity Services Engine, and Cisco TrustSec technology
B. Cisco Enforcement Enterprise, the Cisco Identity Services Engine, and Cisco TrustSec technology
C. Cisco Stealthwatch Enterprise, the Cisco Identity Services Engine, and Cisco wireless technology
D. Cisco Stealthwatch Enterprise, the Cisco Ideas Engine, and Cisco TrustSec technology

Answer: A

NEW QUESTION 4
Cisco Unified Data Center offers some benefits to customers. Which is not a benefit?

A. Gain control over increasing complexity
B. Sophisticated capabilities made simple
C. Deliver more value, faster to all lines of business
D. State of the art infrastructure

Answer: D

NEW QUESTION 5
What is Cisco's approach to business outcome sales?

A. Cisco's approach focuses on increasing revenue and reducing costs from a customer centric perspective
B. Cisco’s approach focuses on developing a business-focused view of the customer enterprise looking at needs and business outcomes from a customer-centric
perspective.
C. Cisco's approach focuses on differentiating itself as a market leader in security solutions from a profits centric perspective
D. Cisco's approach focuses on enabling its sales team with the necessary tools and products to increase its market share

Answer: B

NEW QUESTION 6
Which feature of WebEx Teams allows customers to collaborate on sketches?

A. whiteboarding
B. messaging
C. bots
D. integrations

Answer: A

Explanation: 
https://blog.webex.com/2018/12/cisco-webex-teams-collaboration-platform-cloudlock-making-team-collaborati

NEW QUESTION 7
Cisco has a five-phased cloud plan. Which of the following is not one of the phases?

A. Cloud Native Stacks
B. Containers and Analytics
C. Multi-cloud management
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D. Application renewal

Answer: D

NEW QUESTION 8
Which type of business requirements define the required parameter for a solution?

A. technical requirements
B. transitional requirements
C. functional requirements
D. general business requirements

Answer: A

NEW QUESTION 9
The Cisco Data Center captures the intent of users and applications. Which is not a benefit?

A. Enhance IT operations
B. Seamless multicloud mobility
C. Enhanced application performance
D. Pervasive security

Answer: A

Explanation: 
https://cdw-prod.adobecqms.net/content/dam/cdw/on-domain-cdw/brands/cisco/intent-based-data-center.pdf

NEW QUESTION 10
Cisco fog delivers business outcomes. Which is not one of the outcomes mentioned in the slides?

A. Improve operational effectiveness
B. Gain new revenue streams
C. Increase product quantity
D. Increase customer satisfaction and trust

Answer: C

Explanation: 
https://www.cisco.com/c/en/us/solutions/internet-of-things/iot-data-analytics.html

NEW QUESTION 10
Cisco TrustSec software-defined segmentation is simpler to enable than VLAN-based segmentation. Which of the following is not a feature of TrustSec?

A. Diversified compliance
B. Apply policies across the network
C. Lower operational expenses
D. Reduce risks

Answer: A

NEW QUESTION 11
Which is a unique capability of Meraki MX?

A. API-based management
B. Java-API console management
C. single pane of glass management tor full stack branch infrastructure
D. camer grade security for data centers

Answer: C

NEW QUESTION 15
Which of the following could be considered a business outcome'?

A. to nounsh people and the planet
B. customer experience/innovation/fulfillment
C. implements direct-to-customer experience by the end of FY 2021
D. respect employees, customers, and suppliers

Answer: C

NEW QUESTION 17
How does Cisco's web security appliance protect the organization?

A. file reputation during an attack
B. daily scanning of web traffic for anomalies

Passing Certification Exams Made Easy visit - https://www.2PassEasy.com



Welcome to download the Newest 2passeasy 700-150 dumps
https://www.2passeasy.com/dumps/700-150/ (121 New Questions)

C. parallel AV scanning
D. automated monitoring and analysis across the network

Answer: D

NEW QUESTION 21
In terms of Cisco's business outcome sales roles, there are many variations in the teams that engage with customers. Which of the following is not one of these
teams?

A. Services team
B. Account team
C. Team leadership
D. Marketing team

Answer: D

NEW QUESTION 24
Which term describes the capability to correlate security information and apply intelligence in order to understand context?

A. sophistication
B. breadth
C. integration
D. depth

Answer: C

NEW QUESTION 27
Which of the following are the top three protecting capabilities of Cisco Data Center?

A. segment, enforce, and detect
B. enforce, segment, and access
C. detect, authenticate, and replicate
D. detect, replicate, and access

Answer: A

NEW QUESTION 28
Which group makes up Cisco's collaboration portfolio?

A. customer care, conferencing, team innovation, and telepresence
B. unified communications, customer care, conferencing, and collaboration endpoints
C. unified communications, customer care, team innovation, and conferencing
D. unified communications, customer care, team innovation, and collaboration endpoints

Answer: B

Explanation: 
https://www.cisco.com/c/en/us/solutions/collaboration/index.html#~stickynav=2

NEW QUESTION 33
Cisco was the first company to provide which product commercially?

A. Remote access devices
B. Fibre-optic networking
C. Multiprotocol routers
D. Wireless networking

Answer: C

NEW QUESTION 34
Which of the following are included in Cisco's Collaboration Portfolio?

A. Unified Communications, Customer Care, Conferencing, and Collaboration Endpoints
B. Unified Communications, Unified Management, Customer Care, and Conferencing
C. Unified Management, Customer Car
D. Conferencing, and Collaboration Endpoints
E. Unified Management, Unified Communication
F. Conferencing, and Collaboration Endpoints

Answer: A

NEW QUESTION 35
Which of the following are features of the Cisco Firepower NGFW?

A. threat focused
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B. fully integrated
C. unified management
D. cloud based

Answer: A

NEW QUESTION 36
Which of the following is not a feature of Cisco ONE software?

A. Software license tied to hardware
B. License portability and flexibility
C. Access to innovation, upgrades and new capabilities
D. Simple set of solutions in networks and cloud

Answer: A

NEW QUESTION 40
AMP for endpoints decreases time to detection. What is Cisco's security time to detection?

A. 8 hours or less
B. 7 hours or less
C. 10 hours or less
D. 6 hours or less

Answer: D

NEW QUESTION 42
Cisco's software defined access allows customers to get network speed, security and peace of mind. Which of them is not one of the capabilities?

A. Secure from evolving threats
B. Limits the network access
C. Prepare for loT growth
D. Adapt to mobile demands

Answer: D

NEW QUESTION 46
Which is a key benefit of Cisco UCS?

A. hardware-centric design
B. distributed infrastructure management
C. unified network fabric
D. integrated third-party applications

Answer: C

NEW QUESTION 51
Which of the following are included in Cisco's portfolio of converged infrastructure solutions?

A. VersaStack.VxBlock.FlexStack.andFlexPod
B. FlashStack.VersaStack.HyperFlex.andVxBlock
C. HyperFlex.FlexPod.FlexStack.and VxBlock
D. HyperFlex.Talos.VxBlock.andVersaStack

Answer: B

NEW QUESTION 55
Which of the following describes the benefits of Cisco intelligent automation for cloud software?

A. It defines the deployment and management requirements of an entire application stack.
B. It automates sophisticated data center and standard business processes from a single, self-service portal.
C. It builds a robust security architecture while significantly reducing WAN costs and time to deploy new services.
D. It includes Wireless LAN, Security/SD-WAN, Switching, Mobility Management, and Insight.

Answer: B

NEW QUESTION 57
Which phrase describes the benefits of the Cisco UCS product range?

A. communication on an all-in-one platform designed to fit the way customers work
B. cloud-based service allowing customers to set up and configure an entire virtual data center in minutes
C. cloud-based security solution allowing customers to be protected on any device at any location
D. increased productivity, reduced total cost of ownership, and scalability to the data center

Answer: D
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NEW QUESTION 62
Cisco has endpoints that are designed to improve collaboration and address the widest range of use cases. Which of the following is not an endpoint?

A. Phones and Desktop endpoints
B. Video End Point Applications
C. Room and Immersive Systems
D. Mobile End Point Applications

Answer: B

NEW QUESTION 64
Which is the management component in Cisco's intent based networking solution?

A. UCS Director
B. UCS Central
C. DNA Center
D. CloudCenter

Answer: C

NEW QUESTION 65
In the Cisco DNA 8 framework, which is not a component of the enterprise controller?

A. Automation
B. Analytics
C. Avoidance
D. Assurance

Answer: C

Explanation: 
https://www.cisco.com/c/dam/en/us/solutions/collateral/enterprise-networks/solution-overview-c22-738468.pdf

NEW QUESTION 66
Cisco Catalyst 9000 is built for SD access. Which of the following are the features?

A. Fixed access, future-proofed and mobility
B. Convergence, fixed core and first in enterprise
C. Future-proofed, industry's unmatched and first in enterprise
D. Fixed access, industry's unmatched and first in enterprise

Answer: B

NEW QUESTION 70
......
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